+£587vDC . +587vDCG
R1 Vbatt = 33 * 12vDC P=1*1*R
Vbatt = 396vDC | = SQR (P /R)
| = SQR (200 / 220)
D1 D3 D3 Vdiff = 587 — 396 | = 0.95A
220 Vdiff = 191vDC @ 1A
~UPhase . 200W P=V*V/R
V=IxR P =587 * 587 / 220
~VPhase X R=V/I P = 1566W
R=191/1 P~ 1.6kW
R =191 ohms
~WPhase L P_1*I*R
P=191"*1 P=3*3*220
P=191W P = 1980
CONNf 3A P~ 2kW
—_— L PoV*|
L P=191*3
— B1 B2 B32 B33 P =573W
|_3 + + + +
— —L —L— l —L—  Vbatt =26 * 12vDC
E T T s ‘T Vbatt =312vDC
—eeet ! ! ! ! Vdiff = 587 — 312
N | | | ' Vdiff = 275
— S S . S
———————— P=V*I
415vAC D2l D4 D6 L —E. L ! P_275+%3
3—-phase P = 825W
ovDC . ovDG
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